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1. Implement the following Boolean function with NAND gates: (10%)
F = A(CD+B)+BC

2. Show the steps and reasons to establish the validity of the argument: (10%)
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3. Show the steps and reasons to establish the validity of the argument: (10%)
Vx{ p(x) v q(x)]

Vx{(—=p(x) A g(x)) = r(x)]
2 Vx[—r(x) - p(x)}

4. Convert the following expression to its corresponding clausal form: (10%)
Vx{(¥y P(x,)) = ~(Vy Q(x,y) = R(x, y))]

5. What is the resolution principle? (10%)
6. Evaluate the following formula: (15%)
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7. Let A and B be two events. Derive the Bayesian rule. (15%)

8. Given the following prior and conditional probabilities, calculate p(H\\E\E>E3).
Show each step in details. (20%)

Hypothesis
Probability i=1 i=2 i=3
p(H) 0.40 035 025
pENH) 03 0.8 0.5
p(Exl H)) 0.9 00 07

p(Est H) 06 07 09




